82.000
[3.231

176.000

9.000

3EQSPC

20.00

N

6,000

4 EQSPC

6 EQSPC 6EQSPC
=18.000 _ 1p000__ = 18.000

ENLARGED CUT DETAIL

O

UNDERSIDE X-BOOM CROSSOVER BRACKET

693"
41.000 94.000 41000
11617 B.707 1161
33500 30500 30500  33.50D
S5 fi421 (1207 | 1207 | (32
33 - - -- -- -
es A -
g5
g a D
b 26,000
= 70,000 z
%ﬁ_ 2761 [1.027] o]
or| om ©F S
3g| Se
82 o= |
& o= o o
2] g S gk L“LHUIF'J
& . 8, B &
%5 00, Ja :
s 85 | 85
[ o~ =3 —
S5 I54=1 H i54=2 ‘\\
8
g e \SEE ENLARGED CUT
DETAIL THIS SHEET
g% @ o= SEE ENLARGED CUT
EET | 1 DETAIL THIS SHEET
X-BOOM CROSSOVER BRACKET PLAN ELEVATION A-A ELEVATION B-B
—
O
M8 - 1.25MM PITCH
=
EAE
q <
Sals
T
M8 FLAT WASHER M8 LOCK WASHER M8 HEAVY HEX NUT
53.250 7.750
2401 0311
U-BOLT
ITEM GAGE / THICKNESS / THREADS | MATERIAL QUANTITY
ANTENNA MOUNTING BRACKET | 13 GAUGE HOT DIPPED GALVANIZED STEEL | 1
7.75mm DIA U-BOLT THREADED FORM8 - 125MMPITCH | HOT DIPPED GALVANIZED STEEL | 4
HEAVY HEX NUT M8 - 1.25MM PITCH HOT DIPPED GALVANIZED STEEL | 8
FLAT WASHER v HOT DIPPED GALVANIZED STEEL | 8
LOCK WASHER M8 HOT DIPPED GALVANIZED STEEL 8

PROXICAST
312 Sunnyfield Drive
Suite 200
Glenshaw, PA
15116-1936
1-877-777-7694

Revisions

INo. [Date  [By [Description

Date NOVEMBER 1, 2017

NOTE:
ALL DIMENSIONS SHOWN
ARE IN MILLIMETRES (mm)

Drawing Name

X-BOOM
CROSSOVER
BRACKET

Project Number

Drawing Number

S100




